. & o P t2F1988
WONDER &% 15014001 1509001 15045001 @ @ C¢ . Ros & sas0 & & @) @)
T Syrchronigation with the futare

Bh{EBS WDS %1

ME=1H TEFC RN $5ER R




WDS %%!

FE =48 TEFC
SHERRE N EB A

= itk :

FTEES WDS RFIBHZNE=185HKE
M, E@EI A TIRERILIVEET W, FENT
ERISEE, WDS R5IEBNIAENGEAEMBLA
PRIt WDS RFIBHIES FIETR. B
FEEIRMIRED, BURT AP BG SR BRI
o

AEBSImEZART BN ZNATE
FANVAHA] Tk i, dO/k&AE, =SEE, &,
E,m fEfR. WA KK, BEIR. ATEHR. #

< IFTIL,

AEBESERENERFKER. E4HEHN.
mieFE. BERS. XL HEN. RN,
BRI, BRNHEF—RIIERRFHRMN.

FiERSREZ AT BMFE:
-1P55 BAiPELR, F R4, BRIRF, S1 TIEH
- BRE BB E 400V,
- BRESMER 50Hz;
CIBITHIRRE: -20°C~40°C;
- IBTER < lOOOm;
- THEE 3kW R LATERHLA Y EZ A
4kW KA EBHA A EEAR;
- AEIAT: 1C411 5 1C416,

ZEHFN:

BEAxRESN RERES

WDS
71-280

WDS
71-280

WDS
71-280

WDS
71-280

WDS
71-280

IM B3
IM 1001

IM V5
IM 1011

IM V6 IM B6 IM B7 IM B8
IM 1031 1051 IM 1061 IM 1071

e mE T

IM B35
IM 2001

IM V15
IM 2011

IM V36

IM 2031 IM 2051 IM 2061 IM 2071

10 & O HEE- T

IM 211

*
IM 2131 IM 215 IM 2161 IM 2171

0 @@:@@:D:

IM BS
IM 3001

IM V1
IM 3011

IM V3
IM 3031

11 & &

IM Bl4
IM 3601

1 J

IM V18
IM 3611

ﬂztﬁ%ﬁ‘t‘]@ﬂ?ﬁﬁﬁﬁ’] IREZR

1) &8 “

IM V19
IM 3631

5

T RESN, 1EC60034-7 EPEEQA%EXQ

2) B*IMV3, IMB6, IMB8 FIZREAAIIDIAEZHIN.



WDS RFIFNiE =18/ M 5 X AN B AR ERIE (1/6)

25

0.65/0.14  80M1 2860/1450 73.0/57.0 0.85/0.57 1.5/0.58 4.8/3.6 2.18/0.93 1.9/2.0 2.2/2.3 0.0008 16
0.95/0.2 80M2 2850/1440 75.0/60.0 0.87/0.59 2.1/0.7 5.0/3.7 3.19/1.33 2.0/1.8 2.2/2.2 0.0009 17
1.1/0.25 80M3 2860/1440 77.0/60.7 0.87/0.60 2.4/0.85 5.3/3.8 3.7/1.7 2.0/1.8 2.2/2.0 0.0012 19
1.4/0.22 90S 2870/1470 77.0/48.0 0.87/0.63 3/1.1 5.3/33 4.6/1.4 1.7/1.0 2.4/23 0.0019 24
1.9/0.3 90L 2880/1470 78.0/53.0 0.87/0.68 4/1.1 5.8/3.7 6.3/1.9 1.9/1.0 2.5/2.3 0.0024 27
2.5/0.4 100L 2900/1470 80.0/60.0 0.87/0.67 5.2/15 6.5/4.1 8.2/2.6 2.1/1.0 3.0/2.7 0.0041 35
3.5/0.6 112M 2895/1470 83.0/68.0 0.92/0.60 6.6/2.1 7.0/5.8 11.5/3.9 1.7/1.8 2.3/2.8 0.012 43
5.5/1 1328 2900/1470 84.0/64.0 0.88/0.65 10.8/3.5 7.8/5.7 18.1/6.5 2.4/2.0 2.9/2.0 0.016 62
7.4/1.2 1328 2875/1475 85.0/67.0 0.93/0.64 13.5/4.1 7.5/5.9 24.6/1.8 2.1/2.0 2.6/2.8 0.022 70
13/1.9 160M 2940/1470 88.5/79.5 0.92/0.79 23/4.4 7.8/6.4 42/12 2.1/2.1 3.0/25 0.054 124
17.5/2.5 160L 2925/1475 89.0/81.0 0.92/0.77 31/5.8 7.1/6.7 57/1.6 2.0/2.5 2.6/2.9 0.057 147
20/2.8 180M 2930/1465 89.0/77.0 0.90/0.77 36/6.9 6.4/5.8 65/18 2.1/19 2.4/2.0 0.094 183
25/3.6 180M 2940/1465 90.0/78.0 0.88/0.78 46/8.6 7.5/13 81/24 2.6/1.9 2.9/19 0.108 186
30/4.1 200L1 2945/1480 91.5/85.0 0.89/0.72 54/10 8.0/7.1 97/26 2.2/2.7 2.8/2.8 0.15 239
38/5.5 200L2 2945/1485 92.5/86.5 0.91/0.74 67/13 7.7/6.8 123/35 2.2/2.6 2.6/2.6 0.19 265
43/6.0 225M 2950/1475 92.5/86.5 0.90/0.78 75/13 7.1/5.8 139/39 2.3/2.7 2.4/2.0 0.26 328
50/7.0 225M /955/1480 93.0/87.5 0.91/0.78 86/15 7.3/6.1 162/45 2.4/2.9 2.4/2.1 0.29 330
70/10.0 250M 2965/1485 94.0/89.5 0.90/0.76 119/22 9.3/7.1 225/64 2.3/2.5 3.1/23 0.67 449
0.37/0.08  71M1 2690/1460 64.0/40.0 0.92/0.41 0.9/0.7 3.3/43 1.31/0.52 1.8/2.1 19/2.2 0.00066 14
0.55/0.12  71M2 2700/1470 67.0/48.5 0.91/0.42 1.3/0.85 3.8/34 194/0.78 1.4/2.2 15/2.2 0.00089 16
0.65/0.13  71M3 2800/1400 69.0/49.0 0.85/0.42 1.6/0.91 4.1/3.5 2.2/0.88 15/2.3 1.6/2.4 0.0011 16
0.85/0.2 80M1 2850/1440 77.0/52.5 0.85/0.55 1.9/1.0 5.0/4.1 2.86/1.33 21/23 2.3/2.6 0.000 17
1.1/0.25 80M2 2855/1450 79.0/55.6 0.84/0.59 2.4/1.1 5.3/4.2 3.7/1.65 2.3/25 2.5/2.7 0.00009 19
1.4/0.35 80M3 2845/1440 79.0/66.8 0.85/0.63 3/1.2 5.4/4.4 4.7/2.32 2.3/2.4 2.4/2.6 0.0012 20
1.5/0.37 90S 2860/1460 77.0/66.8 0.87/0.63 3.3/1.27 5.2/3.9 5.2/1 1.8/1.1 2.4/2.1 0.0019 25
2.2/0.45 90L 2860/1460 80.0/73.0 0.88/0.65 4.6/1.4 5.9/4.4 7.3/2.9 2.1/12 2.6/2.3 0.0024 30
3/0.6 100L 2880/1470 81.0/74.0 0.89/0.61 6.2/1.9 6.3/4.8 9.9/3.9 22/14 2.8/2.8 0.0041 39
4.5/1 112M 2875/1450 83.0/80.0 0.93/0.76 8.4/2.4 7.0/6.0 14.9/6.6 1.8/1.9 2.3/2.8 0.012 48
6.2/1.3 1328 2880/1455 84.0/80.0 0.91/0.67 11.8/3.5 7.0/6.5 20.6/8.5 2.0/2.6 2.6/3.3 0.016 65
8.3/1.7 132M 2875/1455 84.0/82.0 0.93/0.71 15.4/4.2 7.4/6.6 27.6/11.2 2.5/2.1 2.7/3.3 0.022 76
10/2.0 160M1 2910/1465 85.0/83.5 0.89/0.73 19/4.8 5.9/6.1 30/43 1.5/2.4 2.3/2.8 0.039 116
16/3.2 160M2 2915/1465 87.5/86.5 0.92/0.76 28.5/7 6.6/6.3 52/21 1.8/2.5 2.4/2.8 0.054 126
19.5/4.5 160L 2930/1465 89.0/88.0 0.89/0.77 36/9.7 7.6/6.4 64/29 2.3/2.5 2.9/2.8 0.057 147
21.5/4.1 180M 2935/1465 90.0/88.0 0.91/0.77 38.0/10 7.0/5.3 70/28 2.1/2.1 2.6/2.3 0.094 171
26/5.2 180M 2940/1470 90.5/89.5 0.89/0.75 47/11 6.9/5.8 85/34 23/2.4 2.6/2.4 0.108 182
32/8.0 200L1 2940/1465 90.5/89.5 0.89/0.85 58/16 7.1/6.2 104/52 2.0/2.0 2.5/2.2 0.28 253
14519 200L2 2950/1475 91.5/91.0 0.89/0.85 69/19 7.4/6.2 126/65 2.0/2.0 2.6/2.3 0.34 265
15646 200L3 2950/1470 92.5/91.0 0.89/0.77 75/23 1.7/5.6 136/71 22/2.1 3.0/25 0.19 265
45/13 225M 2955/1475 93.0/91.5 0.92/0.82 76/25 7.4/53 145/84 2.0/2.0 2.6/2.1 0.27 330
55/15 225M 2955/1475 93.5/92.5 0.91/0.82 94/29 7.3/5.4 178/97 2.0/2.0 2.6/2.2 0.3 330

75/25 250M 2965/1475 94.5/93.0 0.92/0.82 125/48 8.9/5.5 241/162 2.3/2.0 3.1/22 0.36 450



WDS FRFIFNiE =18/ R 5 X AN B AR EIE (2/6)

25

0.18/0.037  71M1 1420/710 50.0/26.0 076/047  076/043  0.7/0.35 2721 122/034  15/39 0.00066 14
03/0.05  71M2 1400/700 54.0/34.0 0.80/0.50 1/0.73 27/2.1 2.1/0.69 15/2.8 1.7/28 0.00089 15
0.48/0.075  80M1 1400/710 64.0/35.0 0.79/0.50 1.4/0.61 3.4/2.4 33/1 17722 1.7/26 0.0013 16
0.63/01  80M2 1400/710 68.0/40.0 081/0.50  165/075  3.7/25 44/135 1.8/23 1.8/2.6 0.0016 17
073/0.12  80M3 1400/710 70.0/42.0 0.80/0.50 1.9/0.85 41/26 5/1.7 2.0/23 2.0/2.5 0.002 18
1/0.13 90S 1400/700 71.0/38.0 0.83/0.70 26/0.72 39/2.1 6.8/1.8 15/1.0 2.0/1.7 0.00232 24
14/018  90L 1420/710 74.0/41.0 0.81/0.60 35/1.1 45023 9.4/2.4 1711 23/2.1 0.0043 30
1.85/025 100L1  1430/720 78.0/45.0 0.84/0.60 42/1.4 49/25 12/33 1711 23/2.1 0.0069 36
23/033 1002 1430/720 80.0/49.0 0.86/0.60 5/1.6 52/2.6 15/4.3 1.8/1.1 24/22 0.0082 36
3/0.4 112M 1440/730 81.1/51.0 0.87/0.58 6.2/2 6.8/3.8 19.9/5.2 15/16 24/2.6 0.018 44
4/0.6 1328 1465/740 84.0/51.0 0.84/0.53 8.2/32 6.5/3.5 26.1/7.7 15/1.1 24/25 0.038 61
55/0.9  132M 1455/735 84.0/53.0 0.87/0.64 10.9/3.9 62/31  361/117  15/11 2.2/2.0 0.048 73
9/1.3 160M 1460/735 87.0/60.0 0.84/0.53 18/5.9 6.6/4.0 59/17 2.0/2.2 25/2.7 0.089 117
13/1.8 160L 1455/735 88.0/64.0 0.85/0.53 26/8.2 6.0/4.1 89/26 1.9/2.2 23/2.6 0.119 141
16/2.3  180M 1475/740 88.5/64.0 0.82/0.53 32/9.7 6.8/4.1 104/30 22/22 2.7/2.6 0.176 145
19/2.7 180L 1475/740 89.5/68.0 0.83/0.54 37/10.5 7.5/7.2 123/35 2.6/2.6 2.9/2.6 0224 191
26/33  200L1  1475/740 91.0/73.0 0.85/0.59 49/11 6.9/4.6 168/46 22/22 25/2.3 0.28 246
30/38 20002 1470/740 91.5/75.5 0.86/0.59 55/12.5 6.7/4.6 195/49 2.1/22 24/22 034 259
38/52 2255 1480/740 91.5/80.5 0.84/0.63 72/15 73/52 245/67 2.1/23 26/2.3 041 319
46/7 225M 1480/740 92.5/82.0 0.86/0.66 85/19 7.7/4.9 297/90 23/2.1 27/2.1 0.49 358
63/10  250M 1475/740 93.5/83.0 0.89/0.65 110/27 75/6.0 408/129 24/3.0 27/2.7 0.89 455
0.18/0.037  71M1 1380/720 58.0/15.0 0.74/0.48 0.6/0.73 35/1.7  124/049  17/17 1.8/18 0.00066 14
037/0.09  71IM2 1360/700 58.0/20.8 0.84/0.48 01.1/1.3 3.1/1.7 26/12 13/18 1.4/19 0.00089 14
045/0.1  71M3 1390/685 60.0/23.7 0.78/0.50 14/1.22 3.5/2.6 3.1/14 1713 1.8/14 0.0011 15
055/0.13  80M1 1410/680 64.0/30.0 0.70/0.52 1.8/12 38/24  374/18  22/16 22/16 0.0011 16
0.75/0.17  80M2 1400/675 67.0/35.6 0.75/0.53 2.15/13 40/24  513/241  20/14 2.0/1.4 0.0016 19
09/02  80M3 1400/680 70.0/38.2 0.76/0.54 245/1.4 4325  615/28  23/15 23/25 0.002 20
1.1/026  90S 1410/700 73.0/45.5 0.80/0.54 2.8/15 42/2.4 7.4/36 1.8/12 23/1.9 0.0032 26
1.7/035  90L 1390/700 74.0/55.3 0.82/0.55 4/1.66 45025 10.3/4.7 22/15 26/2.1 0.0043 34
23/05 1001 1415/715 76.0/63.4 0.84/0.55 52/2.07 46/2.1 155/6.7 1.8/12 24/1.9 0.0069 35
28/0.6 1002  1430/720 81.0/68.0 0.82/0.55 6.4/2.32 52/3.0 18/8 2.0/1.2 2.6/2.2 0.0082 38
3.0/065 1003  1430/720 81.0/67.0 0.81/0.55 6.8/2.55 5.6/3.0 20/8.7 22/13 2.8/2.3 0.009 41
35/0.7  112M 1430/720 81.0/73.5 0.89/0.55 7/2.64 6.8/4.4 23.4/9.3 1.6/17 25/2.7 0.018 47
5/1.0 1325 1450/725 83.0/74.0 0.87/0.55 9.9/3.54 64/36  329/132  15/1.0 23/2.0 0.038 66
6.8/1.4  132M 1460/730 85.0/73.0 0.84/0.55 13.7/5.1 76/36  445/182  2.0/14 2.8/2.7 0.048 79
10.5/22  160M 1460/735 87.5/79.0 0.84/0.54 21/7.4 6.9/3.7 69/29 22/15 27/2.3 0.089 125
155/27  160L 1460/735 88.5/79.5 0.85/0.51 30/9.5 6.9/3.9 101/35 22/1.7 2.6/2.6 0.119 146
17/34  180M 1470/730 88.5/78.0 0.85/0.56 33/11 5.8/43 111/44 1.7/12 23/1.9 0.119 149
22/4.4 180L 1475/735 89.5/79.0 0.83/0.53 43/15 6.7/3.9 143/57 2.0/1.7 26/2.3 0224 214
29/65  200L1  1470/730 90.5/86.0 0.86/0.64 54/17 6.9/4.2 188/81 22/1.9 24/1.9 0.28 257
33/8 20012 1475/730 91.5/86.5 0.86/0.64 61/21 7.8/4.2 214/105 26/1.9 26/1.8 034 259
42/10 2258 1480/740 92.0/89.5 0.86/0.64 85/27 7.8/5.0 271/129 25/2.2 3.0/23 0.49 352
50/11 225M 1465/735 92.5/89.5 0.87/0.65 91/28 7.3/4.7 324/143 23/2.0 25/2.0 0.49 358

60/15 250M 1475/735 93.0/90.0 0.86/0.70 104/34 7.9/47 388/195 2.6/2.1 2.7/2.0 0.89 455



WDS FRFIFNiE =10/ M 5 X AN B AR 2R (3/6)

i Ve Ih=EH 2

0.18/0.05  71M1 1400/900 56.0/27.0 0.76/0.69 0.6/0.4 30/21  122/053  1.1/11 12/12 0.00066 14
03/01  TIM2 1350/900 54.0/30.0 0.86/0.69 0.9/0.7 2.8/2.0 2.1/1.06 1.0/1.1 11/11 0.0089 15
05/0.19  80M1 1370/930 60.0/50.8 0.84/0.72 1.4/0.75 29/3.1 3.5/1.96 14/15 14/15 0.0019 16

0.66/025  80M2 1390/935 64.0/55.8 0.80/0.75  1.86/088  33/33 455256  16/15 16/16 0.0022 17
0.78/03  80M3 1400/940 66.0/60.0 0.84/0.73 2/1 36/38  533/3.06  18/19 1.8/2.1 0.025 20

1/0.3 90S 1400/940 73.0/53.0 0.83/0.70 25/1.2 42/26 6.8/3 1.8/1.0 22/1.7 0.0032 24
15/045  90L 1400/930 72.0/52.0 0.84/0.73 35/16 43/2.9 10/4.5 1.7/10 2.1/1.8 0.0043 33
2/0.6 100L1  1430/960 77.0/62.0 0.85/0.72 45/2 5.0/33 13/5.9 1.8/1.0 24/1.9 0.0069 37
25/08 1002 1430/960 79.0/68.0 0.84/0.71 455/2.5 5.6/3.5 16/7.9 20/1.1 2.5/2.0 0.0082 37
3/1 112M 1445/975 82.0/67.0 0.84/0.68 6.3/3.1 6.0/4.0 19.8/9.8 13/1.0 23/22 0.018 44
45/15 1325 1460/985 83.0/67.0 0.85/0.64 92/5.1 65/42  294/145  15/1.0 23/22 0.038 63
6/2 132M 1460/980 84.0/71.0 0.86/0.73 12/5.6 7.1/45  392/195 = 18/13 2.5/2.0 0.048 75
105/35  160M 1460/965 87.0/75.5 0.84/0.78 21/8.6 6.4/4.1 69/35 2.0/13 25/1.7 0.089 125
145/45  160L 1460/970 88.5/77.0 0.85/0.76 28/11 6.9/4.6 95/35 22/15 2.6/1.9 0.119 147
16/5 180M 1470/980 89.0/78.0 0.83/0.73 31/12.5 6.3/4.6 104/49 19/15 2.5/2.0 0.176 177
20/6.5 180L 1470/980 90.0/79.5 0.83/0.74 39.0/16 7.2/5.0 130/63 24/1.8 2.7/2.0 0224 195
23/72  200L1  1475/985 89.5/84.0 0.88/0.74 43/16.7 7.7/7.8 149/70 1.6/1.9 2.8/2.9 0.44 234
30/9 20012 1470/990 90.0/86.6 0.90/0.78 54/19.2 7.7/9.5 195/87 16/1.7 2.7/2.9 053 259
34/11 2258 1470/985 91.0/85.0 0.91/0.84 60/22.2 77/6.7 221/107 15/13 27/23 0.67 311
42/14  225M 1475/985 91.5/89.0 0.89/0.86 75/26.4 8.4/6.8 272/136 1.7/14 3.0/23 0.78 352
63/185  250M 1475/985 93.5/87.0 0.89/0.87  110/353  75/13 408/179 24/3.0 27/2.6 0.89 455

025/0.1  80M1 945/725 57.0/41.0 0.68/0.55  095/0.65  32/2.8 26/1.32 2.0/2.4 22/2.9 0.0019 15

033/0.14  80M2 940/720 62.0/46.0 074/056  01.05/08  34/31  336/186  19/25 1.9/3.0 0.0022 16
045/02  90S 940/700 59.0/440 0.72/0.67 1.6/1 3.1/22 46/2.7 1.4/1.0 2.0/1.7 0.0032 24
0.7/0.3 90L 930/690 63.0/45.0 0.75/0.64 22/15 3.1/23 72/41 13/11 1.8/18 0.0043 25
09/04  100L1 950/720 68.0/55.0 0.77/0.61 25/1.8 3.4/2.7 9.1/53 12/11 1.8/18 0.0069 26
12/05 1002 950/710 71.0/57.0 0.71/0.61 35/2.1 3.7/2.9 12/6.6 13/12 2.0/2.0 0.0082 34

17/15  200L1 985/740 88.0/81.5 0.85/0.77 33/17 7.1/6.4 165/97 22/22 25/2.5 0.42 234
20/9 20012 985/740 88.5/82.5 0.84/0.74 39/21 7.6/7.0 194/116 24/2.6 2.7/2.9 0.48 243
26/12  225M 985/740 89.5/84.5 0.85/0.76 49/27 74/71 252/155 2.4/2.4 25/2.7 0.63 303
32/14  225M 985/740 90.5/85.5 0.83/0.76 62/31 7.0/7.2 310/180 24/25 24/25 0.74 319
43/15  250M 990/745 91.0/86.0 0.84/0.75 81/34 73/74 415/198 25/2.8 25/2.8 141 421

05/0.08  90S 920/440 60.0/31.0 0.74/0.59 1.7/0.63 2.9/1.7 52/1.7 12/14 1.8/2.0 0.0032 17

075/0.12  90L 930/450 64.0/36.0 0.73/0.54 2.4/0.9 3.0/1.8 7.7/2.5 13/16 1.9/1.9 0.0043 25
09/0.16  100L1 940/470 69.0/45.0 0.73/0.49 2.6/0.96 36/2.1 9/3.2 13/12 2.0/1.8 0.0069 34

1.3/2.0 100L2 940/460 71.0/52.0 0.76/0.47 3.5/1.2 3.4/2.2 13/4 12/1.0 1.8/1.5 0.0082 35



WDS R FINiE =10/ M 5 X AN B AR EIE (4/6)

25

0.58/0.28  80M1 2850/1400 70.0/61.0 0.88/0.63 1.35/1.05 4.4/3.1 1.95/1.92 1.6/1.5 1.9/15 0.0015 15
0.7/0.36 80M2 2860/1400 74.0/63.4 0.88/0.64 1.55/1.28 5.0/3.4 2.35/2.46 1.8/1.6 2.2/1.8 0.0016 17
1.1/0.55 90S 2900/1450 74.0/62.0 0.85/0.64 2.5/2 5.1/3.6 3.6/3.6 1.4/1.5 2.3/2.3 0.002 22
1.5/0.75 90L 2900/1450 71.0/70.0 0.87/0.67 3.3/24 5.7/4.1 4.9/4.9 15/1.5 25/23 0.003 25
2/1 100L 2900/1460 76.0/67.0 0.89/0.66 4.3/33 6.2/4.0 6.5/6.5 1.9/1.4 2.8/2.6 0.0055 40
2.6/13 112M 2900/1460 80.0/75.0 0.92/0.72 5.1/35 6.4/5.0 8.6/8.5 1.6/1.6 2.3/23 0.01 43
4.4/2.2 1328 2925/1450 81.0/74.0 0.86/0.73 9.1/5.9 7.3/44 14.4/14.5 2.0/13 2.3/22 0.021 60
5.6/2.8 132M 2885/1440 82.0/77.0 0.93/0.75 10.6/7 6.7/5.0 18.5/18.6 1.8/1.4 2.1/2.2 0.03 62
12/6 160M 2835/1460 87.5/84.5 0.92/0.80 22/13 7.7/6.0 39/39 21/23 2.8/2.4 0.09 126
15/7.5 160L 2940/1460 88.5/84.5 0.93/0.78 27/16.5 7.9/6.0 49/49 22/2.4 29/2.4 0.165 134
18/9 180L 2945/1460 89/84 0.90/0.77 32/20 7.7/5.2 58/59 25/2.3 2.8/2.1 0.13 149
23/12 200L1 2960/1475 90.0/89.0 0.89/0.85 42/23 7.8/7.4 4/17 1.7/2.2 2.8/2.5 0.245 222
30/16 200L2 2960/1475 91.0/90.0 0.90/0.87 53/30 8.2/1.3 97/104 1.8/2.2 2.9/2.5 0.39 239
36/18 225M 2960/1480 91.5/91.5 0.91/0.76 63/38 8.0/7.2 116/116 2.5/3.8 2.7/2.5 0.4 266
40/20 225M 2960/1475 92.0/91.5 0.91/0.79 69/41 8.5/6.5 129/129 2.8/3.3 2.8/2.2 0.45 318
50/25 250M 2965/1485 93.0/93.0 0.91/0.76 86/52 8.9/8.5 161/161 2.1/35 2.9/2.9 0.6 410
0.37/0.25  T71M1 2700/1390 64.0/60.0 0.91/0.76 0.95/0.7 3.3/31 1.3/1.72 19/1.5 2.0/1.6 0.00066 14
0.48/0.31  71M2 2780/1400 68.0/65.0 0.87/0.73 1.2/0.94 3.6/4.0 1.66/2.15 1.4/2.0 15/2.1 0.00089 15
0.63/0.5 80M1 2690/1400 66.0/67.0 0.88/0.80 1.6/1.35 3.6/4.2 2.25/3.42 1.8/1.9 19/2.1 0.0013 16
0.85/0.65  80M2 2725/1405 70.0/70.0 0.88/0.80 2/1.7 4.0/4.4 2.99/4.43 1.9/2.0 1.9/2.2 0.0016 16
1.3/1 90S 2730/1400 71.0/71.0 0.82/0.76 3.1/2.6 3.9/3.9 4.5/6.8 2.0/1.5 2.2/2.0 0.0032 23
1.9/1.5 90L 2820/1420 74.0/75.0 0.88/0.81 4.4/3.9 5.1/4.4 6.4/10 2.8/2.0 3.0/25 0.0043 27
2.5/2.1 100L1 2800/1420 68.0/76.0 0.88/0.85 6/5 4.8/4.4 8.5/14 2.2/1.6 2.5/2.2 0.0069 35
3.4/27 100L2 2810/1430 78.0/80.0 0.94/0.76 7.2/5.9 5.3/5.4 11.5/18 2.2/1.9 2.5/2.5 0.0082 39
4/2.6 112M 2865/1430 82.0/77.0 0.93/0.76 7.6/6.5 6.3/6.2 13.3/17.4 1.8/2.3 2.1/2.6 0.012 48
4.7/3.1 1328 2820/1420 79.0/77.0 0.93/0.76 9.2/1.7 5.5/5.7 15.9/20.8 1.8/2.2 2.1/2.4 0.016 62
7.2/4.8 132M 2870/1435 84.0/81.0 0.92/0.74 13.3/11.5 7.1/6.2 24/31.9 2.4/2.5 2.6/2.7 0.022 69
9/6.5 160M 2885/1440 83.0/82.0 0.93/0.77 17.0/15.6 4.6/4.3 4.0/43 1.3/1.7 1.9/1.9 0.039 111
15/10.5 160L 2900/1445 87.0/86.0 0.88/0.79 27/23 5.8/4.9 49/69 1.6/2.1 2.1/2.1 0.057 134
18/12 180M 2940/1455 89.0/89.0 0.89/0.80 33/25 6.8/5.3 59/79 2.1/2.4 2.6/2.2 0.094 188
24/17 180M 2945/1455 90.0/90.0 0.89/0.86 43/34 7.4/52 78/111 2.4/2.4 2.8/2.1 0.108 200
32/24 200L1 2940/1470 89.0/90.5 0.84/0.86 58/45 6.8/5.9 104/156 1.8/2.1 2.4/2.1 0.28 233
39/29 200L2 2950/1470 90.5/91.0 0.92/0.88 75/53 6.8/7.0 126/188 1.7/2.2 2.6/2.4 0.34 265
42/32 225M 2955/1475 92.5/93.0 0.84/0.87 T1/57 7.1/6.5 136/2.7 1.5/1.9 2.5/2.3 0.49 324
50/40 225M 2965/1480 92.5/93.0 0.93/0.88 87/12 T4/7.1 161/259 2.1/2.8 3.3/3.0 0.49 330

68/50 250M 2940/1475 93.0/93.0 0.93/0.89 113/87 6.6/6.9 22.0/324 15/2.1 2.4/2.5 0.89 450



WDS FRFIFNiE =18/ R 5 X AN B AR E4IE (5/6)

25

0.28/0.14  80M1 1425/700 60.0/50.0 0.77/0.68 0.9/0.6 4.0/3.0 1.88/1.92 2.2/2.0 2.2/2.0 0.0019 15
0.38/0.19  80M2 1430/705 64.0/52.0 0.77/0.68 1.1/0.8 4.2/3.1 2.55/2.58 2.0/2.0 2.4/2.0 0.0022 16
0.55/0.25 90S 1450/700 62.0/51.0 0.78/0.59 1.9/1.2 4.2/23 3.6/34 1.3/1.4 2.2/2.1 0.0032 22
0.75/0.37 90L 1450/700 66.0/57.0 0.75/0.57 2.2/17 4.1/2.5 4.9/5 1.4/1.5 2.4/2.2 0.0043 27
1.1/0.55 100L1 1460/710 68.0/62.0 0.77/0.61 3.1/22 4.2/2.6 1.2/14 1.2/1.2 2.3/1.9 0.0069 33
1.5/0.75 100L2 1440/700 72/62.0 0.82/0.60 3.7/2.9 4.6/2.7 9.8/10 13/1.2 2.2/1.9 0.0082 34
1.8/0.9 112M 1470/715 77.0/65.0 0.76/0.66 4.4/3 6.5/4.0 11.7/12 1.2/1.6 2.2/2.4 0.018 46
2.5/13 1328 1470/730 80.0/69.0 0.79/0.58 5.7/4.7 6.7/4.4 16.2/17 1.6/1.4 2.6/2.7 0.038 64
3.3/1.7 132M 1470/725 81.0/71.0 0.83/0.67 7.1/5.2 8.0/4.8 21.4/22.4 1.8/1.8 2.7/2.2 0.048 %
5.5/2.7 160M 1465/730 85.0/71.0 0.83/0.57 11.5/9.6 5.6/4.0 36/35 1.7/2.0 22/23 0.089 112
9/4.5 160L 1465/730 86.5/73.5 0.83/0.56 18/16 7.0/4.1 59/59 2.1/2.1 2.7/2.5 0.119 138
14/7 180L 1475/735 88.0/76.0 0.83/0.56 28/24 1.7/4.2 91/91 2.6/2.3 29/23 0.225 198
18.5/9.4  200L1 1475/730 89.5/82.5 0.85/0.65 35/26 7.3/43 120/123 2.2/19 2.5/1.8 0.28 243
22/11 200L2 1480/735 90.5/83.0 0.84/0.60 42/32 8.4/4.7 142/143 2.6/2.4 2.9/2.2 0.34 250
28/14 225S 1480/735 90.50/85.5 0.85/0.61 53/39 1.7/49 181/182 2.1/2.4 2.7/2.2 0.41 313
34/17 225M 1480/735 92.0/87.0 0.86/0.66 63/43 7.9/4.8 219/221 2.2/22 2.7/2.0 0.49 350
50/25 250M 1480/740 92.5/88.0 0.87/0.60 90/68 8.6/6.0 323/323 2.6/3.5 3.0/2.9 0.89 416
0.18/0.11  71M1 1380/680 54.0/37.0 0.70/0.53 0.7/0.8 3.2/2.5 1.24/1.54 1.9/2.2 2.0/2.3 0.00066 14
0.3/0.15 TIM2 1400/700 60.0/47.0 0.74/0.51 0.9/0.9 3.2/2.6 2.05/2.05 2.0/2.5 2.1/2.6 0.00089 15
0.45/0.25  80M1 1380/700 65.0/48.0 0.87/0.58 1.15/1.3 3.5/2.7 3.12/3.42 1.7/2.1 1.7/2.1 0.0019 16
0.63/0.33  80M2 1380/705 67.0/50.0 0.88/0.56 1.55/1.7 3.5/2.8 4.37/4.48 1.7/2.2 1.7/2.2 0.0022 17
0.7/0.37 90S 1420/700 72.0/50.0 0.80/0.57 1.8/1.9 4.4/2.3 4.7/5.1 1.6/1.6 2.3/2.2 0.0032 24
1.1/0.55 90L 1390/685 70.0/55.0 0.84/0.58 2.6/2.6 4.1/2.3 7.4/1.5 1.4/1.5 2.0/2.1 0.0043 27
1.5/0.75 100L1 1440/710 76.0/62.0 0.85/0.57 3.4/32 4.6/2.8 10/10 1.4/1.5 22/2.2 0.0069 34
2/0.95 100L2 1440/710 78.0/64.0 0.86/0.55 4.4/4 4.8/2.9 13/12 1.4/1.6 22/23 0.0082 38
2.5/15 112M 1410/705 78.0/67.0 0.90/0.66 5.1/4.9 5.5/4.1 16.9/20.3 1.4/1.5 2.1/2.3 0.018 46
3.8/19 1328 1450/730 82.0/70.0 0.86/0.52 7.7/7.6 5.6/3.7 25/24.9 1.4/1.3 2.1/2.7 0.038 67
5/2.5 132M 1455/730 85.0/73.0 0.88/0.52 9.6/9.6 6.9/4.8 32.8/32.7 1.7/2.0 2.4/2.8 0.048 I
8/4.5 160M 1440/730 84.5/79.5 0.86/0.60 16/13.5 4.5/3.4 53/59 1.3/1.4 1.8/1.9 0.089 113
12/7 160L 1445/730 86.5/81 0.87/0.59 23/21 5.0/3.5 79/92 1.5/1.4 1.9/1.9 0.119 136
16/8 180L 1460/730 88.0/78.5 0.86/0.53 31/28 1.9/3.4 105/104 1.4/1.6 19/2.1 0.224 191
22/13 200L1 1475/735 87.5/86.0 0.81/0.69 45/32 6.5/5.9 142/169 2.0/2.5 2.6/2.7 0.36 232
25/15 200L2 1475/730 89.0/86.0 0.86/0.67 47/38 7.6/6.0 162/195 2.2/2.6 2.7/2.7 0.42 242
29/17 200L3 1480/735 90.0/88.0 0.91/0.75 52/38 7.2/6.1 188/221 2.2/2.6 2.4/2.4 0.48 257
35/21 2258 1480/735 90.0/89.0 0.90/0.74 63/47 6.7/5.8 227/273 17/21 2.2/2.3 0.63 315
42/25 225M 1480/735 91.0/89.5 0.91/0.75 T4/54 6.8/5.9 272/325 1.8/2.1 2.2/2.2 0.74 352

55/33 250M 1480/740 92.0/90.5 0.90/0.75 97/71 7.3/6.4 355/426 2.1/25 2.5/25 15 455



WDS RFIFNiE =+ M 5 eX BB AR E4IE (6/6)

e e WEE =

0.55/045 80M1  2860/1420 65/66 0.85/0.74 15/14 7.0/6.5 1.8/3.0 17/16 1.8/18 0.0015 15
0.75/0.55 80M2  2860/1420 66/68 0.85/0.74 2.0/1.7 7.0/6.5 25/3.7 1.8/16 1.8/18 0.0016 16
1.1/085  90S 2850/1430 72/74 0.84/0.77 2.8/2.3 7.0/6.3 3.7/5.1 2.0/17 2.0/2.1 0.002 2
1.8/13 90L 2850/1430 74/76 0.84/0.78 43/33 6.8/7.2 6.0/8.7 2.1/1.9 22/2.1 0.003 26
24/20 1001  2850/1430 76/78 0.86/0.81 5.6/4.8 7.2/6.4 8.0/13.3 1.8/1.9 22/2.0 0.0055 34
3.0/24 10002  2850/1430 78/80 0.89/0.83 6.7/5.6 67/56  10.1/160  1.7/16 2.1/22 0.0068 39
40/33  112M  2860/1450 81/82 0.88/0.83 8.6/7.4 70/64 134217  2.0/1.8 22/2.3 0.0091 48
55/45  132S  2860/1450 80/84 0.88/0.84 11.9/9.8 71/66  184/296  19/1.7 2.0/1.8 0.021 70
80/65  132S  2880/1450 81/85 0.89/0.85  17.1/138  7.1/67  26.7/428  19/1.7 1.9/2.0 0.03 77
11.0/90  160M  2920/1460 83/88 0.89/0.85  229/185  72/64  36.0/589  18/17 19/18 0.093 127
140/11.0  160L  2920/1460 83/88 090/0.86  28.8/223  7.0/64 458720  19/18 19/18 0.165 147
185/15  180M  2940/1470 85/89 090/0.87  36.7/294  73/66  60.1/974  19/18 19/1.9 0.136 177
22/185  180M  2940/1470 86/89 091/0.88  427/359  70/64  715/120  19/19 1717 0.145 200
30/26 200L  2950/1470 86/90 092/0.89  583/499  71/69  97.1/169  17/16 1.7/18 035 246
37/32 225M  2960/1480 87/90 091/0.89  711/607  7.1/68 119/206 1.6/14 1.7/16 041 308
45/37  225M  2960/1480 87/91 091/0.89  86.4/694  72/10 145/239 1.7/14 17/18 0.44 330
52/45  250M  2960/1480 88/91 092/089  98.7/844  7.0/63 168/290 16/1.7 19/17 0.64 449
72/60 280S  2970/1490 88/91 0.92/0.90 135/111 75/6.9 232/387 15/14 1.8/18 1.05 564
82/72  280M  2970/1480 88/91 0.92/0.90 152/134 7.8/7.0 264/461 1.4/14 17/18 112 584
0.75/0.45  90L 1420/700 72/58 0.87/0.63 1.9/1.9 6.5/6.0 5.0/6.1 1.4/16 1.7/18 0.004 26
15/085  100L 1410/700 75/68 0.88/0.63 35/3.1 6.6/5.7 6.6/5.7 1.4/16 1.8/1.7 0.0069 34
24/15  112M 1410/700 78/72 0.88/0.63 53/5.0 6.7/5.8 6.7/5.8 1.7/16 1.8/1.9 0.0071 45
3322 1328 1440/720 80/75 0.88/0.64 7.1/7.0 6.4/5.9 6.4/5.9 1.7/15 1.8/2.0 0.00274 64
45/30  132M 1440/720 82/78 0.88/0.65 9.4/9.0 6.6/6.0 6.6/6.0 1.7/15 1.8/1.9 0.0343 76
75/50  160M 1450/730 84/83 0.89/0.66  152/139  6.9/7.0 6.9/7.0 1.7/14 1.7/19 0.08 113
11/7.0 160L 1450/730 86/85 0.89/0.66  21.8/19.0  6.9/6.0 6.9/6.0 16/15 1.7/19 0.011 133
17.0/11.0  180L 1470/730 87/86 092/0.74  323/267  7.0/6.1 7.0/6.1 14/15 1.8/19 0.167 197
22/14  200L1  1470/740 88/86 092/0.74  413/330  7.1/65 7.1/6.5 1.7/18 1.8/19 0302 232
26/17 20002 1470/740 88/87 092/0.74  48.8/401  7.0/62 7.0/6.2 1.7/15 17/18 0342 246
34/24 2255 1470/740 88/89 0.88/0.77  66.7/532  7.0/62 7.0/6.2 15/15 17/18 0.525 311
42/30  250M 1480/740 89/90 091/0.78  78.8/649  73/68 73/6.8 17/16 1.8/19 0.807 420
55/40 280S 1480/740 90/91 091/0.80  102/835  7.4/1.0 7.4/7.0 17/16 1.8/18 133 510

67/47 280M 1480/740 90/91 0.92/0.81 123/97.0 7.0/6.9 7.0/6.9 1.7/1.7 1.7/1.8 1.596 643



WDS #7% B3 MERERTE

H71-90 H100-250 H71-250
MES
ononaOnoEannnnoon
71 112 90 45 14 30 5 11 71 7 M5X13 16 24 150 150 124 195 255
80 125 100 50 19 40 6 155 80 10 M6 X 16 215 34 165 175 145 220 295
90S 140 100 56 24 50 8 20 90 10 M8X 20 27 36 180 195 155 250 320
90L 140 125 56 24 50 8 20 90 10 M8X 20 27 36 180 195 155 250 345
100L 160 140 63 28 60 8 24 100 12 M10X25 31 40 205 215 180 270 385
112M 190 140 70 28 60 8 24 112 12 M10X25 31 45 230 240 190 300 400
132S 216 140 89 38 80 10 33 132 12 M12X30 41 55 270 275 210 345 470

132M 216 178 89 38 80 10 5 132 12 M12X30 41 55 270 275 210 345 510

160M 254 210 10

o
o~
o

110 12 37 160 15 M16X36 45 65 320 330 255 420 615

160L 254 254 10

o
o~
)

110 12 37 160 15 M16X36 45 65 320 330 255 420 670

180M 279 241 12

=
N
co

110 14 42.5 180 15 M16X36 515 70 355 380 280 455 700

180L 279 279 12

=
N
co

110 14 42.5 180 15 M16 X 36 51.5 70 355 380 280 455 740

200L 318 305 13

w
w
(6]

110 16 49 200 19 M20X 42 59 70 395 420 305 505 770

2258 356 286 14

e}
D
o

140 18 53 225 19 M20 X 40 64 75 435 470 335 560 815

356 311 149 55 110 16 49 225 19 M20 x40 59 5 435 470 335 560 820
225M

356 311 149 60 140 18 53 225 19 M20 x40 64 5 435 470 EES 560 845

406 349 168 60 140 18 53 250 24 M20Xx42 64 80 490 510 370 615 910
250M

406 349 16

(0]

65 140 18 58 250 24 M20Xx42 69 80 490 510 370 615 910

H71-H90 T mif



WDS #% B35 SMERERTE

H71-90 H100-250 H71-200 H225-250

71 FF130 112 90 45 14 30 5 11 71 7 130 110 160 4-®10 35 M5X13 16 24 150 150 124 195 255

80 FF165 125 100 50 19 40 6 155 80 10 165 130 200 4-®12 35 M6X16 215 34 165 175 145 220 295
90S FF165 140 100 56 24 50 8 200 90 10 165 130 200 412 35 M8X20 27 36 180 195 155 250 320
90L FF165 140 125 56 24 50 8 200 90 10 165 130 200 412 35 M8X20 27 36 180 195 155 250 345
100L  FF215 160 140 63 28 60 8 24 100 12 215 180 250 415 4 M10X25 31 40 205 215 180 270 385
112M  FF215 190 140 70 28 60 8 24 112 12 215 180 250 4915 4 M10X25 31 45 230 240 190 300 400
132S  FF265 216 140 8 38 80 10 33 132 12 265 230 300 4-®15 4 MI2X30 41 55 270 275 210 345 470
132M  FF265 216 178 89 38 80 10 33 132 12 265 230 300 4-®15 4 MI2X30 41 55 270 275 210 345 510
160M  FF300 254 210 108 42 110 12 37 160 15 300 250 350 4-®19 5 M16X36 45 65 320 330 255 420 615
160L  FF300 254 254 108 42 110 12 37 160 15 300 250 350 4-¢19 5 M16X36 45 65 320 330 255 420 670
180M  FF300 279 241 121 48 110 14 425 180 15 300 250 350 419 5 M16X36 515 70 355 380 280 455 700
180L  FF300 279 279 121 48 110 14 425 180 15 300 250 350 4-®19 5 M16X36 515 70 355 380 280 455 740
200L  FF350 318 305 133 55 110 16 49 200 19 350 300 400 4-®19 5 M20X42 59 70 395 420 305 505 770
225S  FF400 356 286 149 60 140 18 53 225 19 400 350 450 8-®19 5 M20X40 64 75 435 470 335 560 815

FF400 356 311 149 55 110 16 49 225 19 400 350 450 8-®19 5 M20X40 59 75 435 470 335 560 820
2N FF400 356 311 149 60 140 18 53 225 19 400 350 450 8-®19 5 M20X40 64 75 435 470 335 560 845
FF500 406 349 168 60 140 18 53 250 24 500 450 550 8-¢19 5 M20X42 64 80 490 510 370 615 910

250M
FF500 406 349 168 65 140 18 58 250 24 500 450 550 8-®19 5 M20X42 69 80 490 510 370 615 910

H71-H90 L RIf
R=0 MW EECEEEIMHRAER



WDS #7%! B5 MERERTE

——N

AC

H71-200 H225-250

71 FF130 14 30 5 11 130 110 160 4-010 3.5 M5X13 16 150 195 255
80 FF165 19 40 6 155 165 130 200 4-012 3.5 M6X 16 215 175 220 295
90S FF165 24 50 8 20 165 130 200 4-012 3.5 M8X20 27 195 245 320
90L FF165 24 50 8 20 165 130 200 4-012 3.5 M8X20 27 195 245 345
100L FF215 28 60 8 24 215 180 250 4-015 4 M10X25 31 215 270 385
112M FF215 28 60 8 24 215 180 250 4-015 4 M10X25 31 240 305 400
1328 FF265 38 80 10 33 265 230 300 4-®15 4 M12X30 41 275 345 470
132M FF265 38 80 10 B 265 230 300 4-015 4 M12X30 41 275 345 510
160M FF300 42 110 12 37 300 250 350 4-019 5 M16X36 45 330 420 615
160L FF300 42 110 12 37 300 250 350 4-019 5 M16X36 45 330 420 670
180M FF300 48 110 14 42.5 300 250 350 4-019 5 M16X36 515 380 455 700
180L FF300 48 110 14 42.5 300 250 350 4-019 5 M16X36 515 380 455 740
200L FF350 55 110 16 49 350 300 400 4-019 5 M20 X 42 59 420 515 770
225S FF400 60 140 18 53 400 350 450 8-®19 5 M20X40 64 470 560 815
FF400 55 110 16 49 400 350 450 8-d19 5 M20 x40 59 470 560 820

2N FF400 60 140 18 53 400 350 450 8-d19 5 M20X40 64 470 560 845
FF500 60 140 18 53 500 450 550 8-019 5 M20 X 42 64 510 645 910

0 FF500 65 140 18 58 500 450 550 8-019 5 M20X42 69 510 645 910

H71-H90 L RIf
R=0 MW EECEEEIMHRAER



WDS &% V1 IMERERTE

-~ -i ‘-""--l
i
@ i ®
iy |
- @ (s
gf 1{7}{\“_‘3{ ,:@ J -
1 et
oM ol
U Wi il
]__"' I -
L ! . .'_il
L w H180-200 H225-250
L N
P

IMERERST (mm)

el b o]

180M
180L
200L
2255

225M

250M

48
55
60
55
60
60
65

110
110
140
110
140
140
140

14
16
18
16
18
18
18

42.5
42.5
49
53
49
53
53
58

300
350
400
400
400
500
500

250
300
400
450
450
550
550

350
400
450
450
450
550
550

4-019
4-®19
4-019
8-¢19
8-19
8-¢19
8-¢19
8-¢19

o o0 o0 ;oo g U

M16X36
M16X36
M20X 42
M20 X 40
M20 X 40
M20 X 40
M20X 42
M20X 42

515
515
59
64
59
64
64
59

380
420
470
470
470
510
510

280
305
335
335
335
370
370

500
550
610
610
610
650
650

740
770
815
820
845
910
910



WDS %%l B14 SMEERERTE

o[ e e e dm e le e s [r] o ol o
71 FT85 14 30 5 11 85 70 105 0+1.0 4-M6 2.5 M5X13 16 150 195 255
80 FT100 19 40 6 15,5 100 80 120 0x15 4-M6 3 M6X16 215 175 220 295
90S FT115 24 50 8 20 115 95 140 0*15 4-M8 3 M8X20 27 195 245 320
90L FT115 24 50 8 20 115 95 140 0*15 4-M8 3 M8X20 27 195 245 345
100L FT130 28 60 8 24 130 110 160 015 4-M8 35 M10X25 31 215 270 385
112M FT130 28 60 8 24 130 110 160 015 4-M8 35 M10X25 31 240 305 400
1328 FT165 38 80 10 33 165 130 200 015 4-M10 4 M12X30 41 275 345 470
132M FT165 38 80 10 33 165 130 200 015 4-M10 4 M12X30 41 275 345 510

WDS %%l B34 SMizRIERT

i

71 FT85 112 90 45 14 30 5 11 71 7 8 70 105 0£1l5 4-M6 25 M5X13 16 150 150 124 195 255
80 FT100 125 100 50 19 40 6 155 80 10 100 80 120 0%1.5 4-M6 3 M6X16 21.5 165 175 145 220 295
90S FT115 140 100 56 24 50 8 20 90 10 115 95 140 0%£15 4-M8 3 M8X20 27 180 195 155 250 320
90L FT115 140 125 56 24 50 8 20 90 10 115 95 140 0£1.5 4-M8 3 M8X20 27 180 195 155 250 345
100L  FT130 160 140 63 28 60 8 24 100 12 130 110 160 0%£2.0 4-M8 35 M10X25 31 205 215 180 270 385
112M  FT130 190 140 70 28 60 8 24 112 12 130 110 160 0%£2.0 4-M8 35 MI10X25 31 230 240 190 300 400
132S  FT165 216 140 89 38 80 10 33 132 12 165 130 200 0%+2.0 4-M10 4 MI12X30 41 270 275 210 345 470
132M  FT165 216 178 89 38 80 10 33 132 12 165 130 200 0%2.0 4-M10 4 M12X30 41 270 275 210 345 510

H71-H90 T mif
R=0 AhEEC S HE 2 HBRIER



WDS ZFihEE S

neEs

100
112
132
160
180
200
225

250

U BRI ERLEMRR. S=ERABEIT,

WDS RFliELisTE

BRI E

fBIhRpREIEAE

WMGELA LR E

SR

E [0l

“ 4‘ 6‘ 8 w 4‘ 6‘ 8 m
6202 2RS/C3 6202 2RS/C3 6202 2RS/C3 6202 2RS/C3
6204 2RS/C3 6204 2RS/C3 6204 2RS/C3 6204 2RS/C3
6205 2RS/C3 6205 2RS/C3 6205 2RS/C3 6205 2RS/C3
6206 2RS/C3 6206 2RS/C3 6206 2RS/C3 6206 2RS/C3
6206 2RS/C3 6206 2RS/C3 6206 2RS/C3 6206 2RS/C3
6208 2RS/C3 6208 2RS/C3 6208 2RS/C3 6208 2RS/C3
6209 2RS/C3 6209 2RS/C3 6209 2RS/C3 6209 2RS/C3
6211/C3 6311/C3 6211/C3 6211/C3
6212/C3 6312/C3 6212/C3 6212/C3
6312/C3 6313/C3 6312/C3 6312/C3
6313/C3 6314/C3 6313/C3 6313/C3
EIER NU H,
4 y
ik ERziRLE B HBXEMIREE
u u
w 2u
2
2w wlwv
w
w w 2w 2v
3 L L2 L3 L2
. J
{ N
i =mmiEdit B HBREIRGE
4] u
w u
2w U
8 ) ) IU N
w
w w u L 2w 2v
L3 v L2 L3 L2
. 7
{ N
{5 BRAEEE S BRI
u u
w 2
W w u 2 L3 aw n
L3 L2 L3 L2
. 7




WONDER &%

% 31988

M EBRSBRATE

ik EEARMTEFAREKRIRERKFK 120 5
kR : www.wonderfz.com

IiRFE: wonder@wonderfz.com

BXZAMIE: 0591-83998899

I fEER: 0591-83998666

REREBIBRAE

it BRAERENBETIRXIGAR 239 5
®JkFLL: www.wonder-cn.com

ALERFS: wonder@dayu-casting.com
BXZHiE: 0593-6379666 6379988

ilkfEE: 0593-6379999

FBERENBEEBRATE
Hink: _ESHITOXFER 203 SKE 2308 =
kBB : shpld@126.com

BEZAHIE: 021-65355573
EIfER: 021-65460669

4 —
FHEBSSRALLEF
Husik: No.11, Jalan Meranti Jaya 16, Taman Meranti Jaya
Industrial Park, 47120 Puchong, Selangor, Malaysia
ILEB#E: sales@wonderelectric.com.my
EXZHiE: +603-8063-9399

HiEBESHINEAE

#bfk: No. 111, Neythal Road, Singapore, 628598
Il #BFE: wondersg@singnet.com.sg
EXZHiE: +65-6265-8698



